
SAP ABAP table FICOC_COND {Condition Type}

FICOC_COND

MANDT [CLNT (3)]

O_APPL [CHAR (6)]

O_CONDTYPE [NUMC (6)]

O_CONDCATG [CHAR (6)]

O_CALCCATG [CHAR (4)]

EXCHRATETYPE [CHAR (4)]

FICOB_APPL

O_APPL [CHAR (6)]
 FICOC_COND-O_APPL = FICOB_APPL-O_APPL 

0..N

0..N

FICOB_APPL_COND

O_APPL [CHAR (6)]

O_CONDCATG [CHAR (6)]
 FICOC_COND-O_CONDCATG = FICOB_APPL_COND-O_CONDCATG 

0..N

1
FICOB_CALCCATG

O_APPL [CHAR (6)]

O_CALCCATG [CHAR (4)]

 FICOC_COND-O_CALCCATG = FICOB_CALCCATG-O_CALCCATG 
0..N0..N

T000

MANDT [CLNT (3)]

 FICOC_COND-MANDT = T000-MANDT 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 FICOC_COND-EXCHRATETYPE = TCURV-KURST 

0..N

0..N


